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Vectors Q1 (3/7/23)

(i) Show that the lin

r = a + tb and the plane r.n = d intersect
b

e
. d—-an
at the pointr =a + ( ——)

0 1
(i) Find the intersection of the line r = (1) +t (2) and the

0 0
1
plane 1. (—1) =—2
0

(iii) Find the angle between the line and the plane in (ii).
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Solution

=t =421
bn
d—a.n
=>r=a+ (7 )b

s () (5)-
o 2= (1) (239)z) - 1)+ (2)- 3

1 1
(iii) <2>.<—1>=\/1+4+0.\/1+1+06059

0 0
o cosh = 1220 _ L
cost ===~

= 0 = 108.43495°
The required angle is:

90 — (180 — 108.43495) = 18.43495 = 18.4° (1dp)



